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Review Exercise
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1. A busruns 720 kmin 9 hoursand atrain runs
680 km in 8 hours. Find their speeds ().
Which is faster?

2. Acartravelsat 60 km/h for 2 hour 15
minutes. Find the distance(*HES) traveled.

3. Mary typesat arate of 80 words/min. How
long will it take he to type 2000 words?

4. Mary types 1800 wordsin 1 hour and Jenny
types 400 wordsin 10 minutes. Find the ratio
of their typing rates.

5. Analoy consistsof 250 g of copper and 135
g of iron. Find the ratio(*) of copper to iron.

6. Simplify the following ratios:
a 18 : 045

b. :E
5

Wl
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7. Thesaary of Paul and Mary isin theratio of
5: 6. If Paul earns $8000 per month, how
much does Mary earn?

8. If A and B share (53 it) an amount (E¢#E)
$10000 in theratio of 3: 2, find the amount
that A gets.

9. If A:B=5:2, B:C=3:2,findA:B:C.

10. A piece of wire (& 559 of length 60cmis cut
into three partsin theratio4 : 5: 6. Find the
length of the longest(s-=) part.

11. On acertain map, an actual (#/[%) distance of
12 km is represented( %) by 0.6 cm. What is
the scale (F=f51*!) of the map?

(Giveyour answer as 1: n)

12. Onamap with scale of 1: 500 000, aroad is
of length 2 cm. What is the actual length of
the road.
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Muhammad ibn Musa al-Khwarizm (780-850AD, Baghdad):
Muslim mathematician and astronomer whose major works
introduced Hindu-Arabic numerals and the concepts of “algebra”
(¥ #) into European mathematics. The word "algebra” came
from the Arabian word "al-jabr” used in one of his book to
describe a technique in solving equations.

Some story told that the Arabian mathematican al-Khawarizmi* (=43 %) had written a will (:# %)
when his wife was bearing their first born (% - ).
The will is as follows:

“I1f my dear love gives birth to a son, my son should inherit (i) 2 of my wealth and my dear

3
wife should get % . If itis a daughter, my wife should inherit % of my wealth and my daughter
E ”
3"

Unfortunately, al-Khawarizmi died before the child was born. His wife later gave birth to a twin, a baby
boy and a baby girl !

How should the mathematicians’s wealth be divided? Solve this problem by using continued ratio (:{iF*).

Wife: Son = Wife : Daughter =
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